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Question Number : 1 Question Id : 583224826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The large circuit board inside the CPU tower is called:
Options:

1 « Motherboard

5 ® Microprocessor

= % Control unit

4 % Main memory

Question Number : 1 Question Id : 583224826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following carries out all the processing jobs of a computer?

Options:
1 « CPU

> % RAM

- u Inputdevice

4 % Output device

Question Number : 2 Question Id : 583224827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 583224828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following uses capacitors and needs continuous refreshing?

Options:
1 v DRAM

> % SRAM

- % Cache memory

4 % Hard Disk

Question Number : 3 Question Id : 583224828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 583224829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most powerful of all computers?

Options:
| % Microcomputer

-~ % Minicomputer

- » Mainframe computer

4  Supercomputer

Question Number : 4 Question Id : 583224829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 583224830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can operate on Android operating system?

Options:
1 « Tablets

5 % Laptops
5 % Microcomputers

4 » Notebook computers

Question Number : 5 Question Id : 583224830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 583224831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an optical storage device that is much faster than CD?

Options:

1 % Hard Disk

- o DVD

5 » Floppy Disk
4 % Magnetic Tape

Question Number : 6 Question Id : 583224831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 583224832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I} A flatbed plotter has a horizontal flat surface on which a paper is fixed.
[T} The size of the drawing in a dnun plotmer is lmited only by the width of the dnun and can be of any length.
I} Blu-ray disk cannot be used for recording. rewriting, and playback of high-definition {HD) video.

Options:

;% I- False. II - True. III - False

i M L False, II - True. III - True
5 % 1-True II - False. III - False

4 « L-True II - True, III - False

Question Number : 7 Question Id : 583224832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 583224833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
I) Laser printer A) Spray tiny droplets of ink on paper
IT) Dot-matrix printer B) Quiet
IIT) Inkjet printer C) Noisy
IV) Hard Disk drive D) Platters

Options:
; » I-B,I-C,M-D,IV-A

5w I-B.II-C.II-A.IV-D
5 % I-D,II-C.II-A IV-B
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Question Number : 8 Question Id : 583224833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 583224834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to programming languages. the full-form of COBOL is:
Options:

, w» Complex Business Oriented Language

-  Common Business Oriented Language
- » Complimentary Business Oriented Language

4 » Common Business of Learning

Question Number : 9 Question Id : 583224834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 583224835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Which of the following rearranges data on the Hard Disk so that the computer can run more efficiently?
Options:

1 # Platters

> % Windows Taskbar

5 » File Manager

4 « Disk Defragmenter

Question Number : 10 Question Id : 583224835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 583224836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following includes data formatting tools and used to create and edit documents using text data?

Options:
1 % S}Vstem software

- u Electronic spreadsheet
5  Word processing software

4 % Database management system

Question Number : 11 Question Id : 583224836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 583224837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The best known example of software licensed under the GNU Public License (GPL) is:

Options:

1 # Unix

> « Linux

=z % Windows XP
4 % Windows 7

Question Number : 12 Question Id : 583224837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

2 ® == XP
P ) == 7

Question Number : 13 Question Id : 583224838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is false?

Options:

, w Machine language does not require any translator

-~ % Assembly language uses mnemonics

5 » Compiler translates high-level language codes into object codes

4 « Interpreter translates high-level language codes into object codes

Question Number : 13 Question Id : 583224838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 583224839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 16 Terabyte?

Options:
, » 2¥Byte

» % 2% Kilobyte
5 % 214 Megabyte

4 214 Gigabyte

Question Number : 14 Question Id : 583224839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

f=fofaT & ¥ Fi=ar, 16 TaEe F e 27

Options:

L 230 q=T

: 228 m
. % 214 m
4 & gl RremaTse

Question Number : 15 Question Id : 583224840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pressing deletes a file permanently without sending it to the Recycle bin.
Options:

1 % Ctrl+Del

> % Alt +Del

3 « Shift + Del

4 % Alt+ Ctrl + Del

Question Number : 15 Question Id : 583224840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® Ctrl + Del

. # Alt + Del
- « Shift + Del
. % Alt + Ctrl + Del



Question Number : 16 Question Id : 583224841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The BIOS is a type of:

Options:

1 #% Anfivirus
5 % Spyware
= « Firmware

4 % Memory defragmenter

Question Number : 16 Question Id : 583224841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 583224842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to computer system and its peripheral devices. SCSI stands for:
Options:

, = Scalable Computer System Interface

>  Small Computer System Interface

s ® Semantic Computer System Interconnection

4 % Systematic Computer System Interconnection

Question Number : 17 Question Id : 583224842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 583224843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of pixels on a display device with display resolution 1024 = 768 is:

Options:
, ® 768

> % 1024
3 % 1792
4 786432

Question Number : 18 Question Id : 583224843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 768
. % 1024
s % 1792
L, v 786432

Question Number : 19 Question Id : 583224844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) Click on the cross (x) button of a window to get it closed.
IT) Double click on the title bar of a maximized window to get it closed.

Options:
1 % I-True. II - True

» % 1-False, II - False
5 « 1-True II - False

4 % 1-False II - True

Question Number : 19 Question Id : 583224844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 set-2
I) Ping A) 150.50.10.5
II) IP address B) System utility to troubleshoot Windows systems
IIT) MSConfig () Test the reachability of a host on an Internet
Options:

. % I-AII-C.II-B
, « [-B.II-C,II-A
5 [-B.II-AII-C
L v [-C.II-AII-B

Question Number : 20 Question Id : 583224845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 583224846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
While working on Windows system, pressing “Windows key + D" will:

Options:



1 % Close the current window

-  Bring the desktop

5 » Restart the computer

4 % Shut-down the computer

Question Number : 21 Question Id : 583224846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 583224847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following infects the boot record or master boot records?
Options:

, w Program file viruses
> « Boot viruses

5 % Spyware

4 ® Trojan

Question Number : 22 Question Id : 583224847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 583224848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Decryption is the process of turning into

Options:



, % Plaintext. Ciphertext

-  Ciphertext. Plaintext
- % Plaintext, Plaintext

4 # Ciphertext. Ciphertext

Question Number : 23 Question Id : 583224848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 583224849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is designed to identify. prevent. and remove viruses from a computer?
Options:
, % Disk cleanup

-~ » Disk defragmenter

2 o Antivirus

4 % Task scheduler

Question Number : 24 Question Id : 583224849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 583224850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Internet Explorer. is used for zoom in. whereas is used for zoom out.

Options:



1 & Ctrl+; Crl -
5 % Ctrl —; Ctrl +
5 % Alt +: Alt—
4 % Alt— Alt+

Question Number : 25 Question Id : 583224850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1w Ctrl +; Cird -

> w Ctrl — Ctrl +

. % Alt +; Alt -

L% Alt = Alt +

Question Number : 26 Question Id : 583224851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) Changing passwords frequently is not advisable for security purpose.
IT) A strong password must have lowercase and uppercase letters. digits, and special characters.

Options:
, « 1-False II - True

> % 1-True II - False
= ® I-True. II - True

4 u 1-False II - False

Question Number : 26 Question Id : 583224851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 583224852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In FAT file system. which of following special characters cannot be used in short filenames?

Options:
1 ® #
o vl
= W (

4% 3

Question Number : 27 Question Id : 583224852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 583224853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Portable Document Format (PDF) was developed by:

Options:
, % Google
> % Microsoft

-  Adobe Systems

4 % IBM

Question Number : 28 Question Id : 583224853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 583224854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands can be used to set or display file attributes?

Options:
1 « ATTRIB

> % FORMAT
= % APPEND
4 % COMP

Question Number : 29 Question Id : 583224854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| v ATTRIB
. » FORMAT
- % APPEND
. » COMP

Question Number : 30 Question Id : 583224855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a popular utility software for file compression?

Options:
1 % Acrobat Reader

- w PostScript
5 WINZIp
4 % MBS-DOS

Question Number : 30 Question Id : 583224855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. vHEe =T (Acrobat Reader)
, % GrEEiEsee (PostScript)
. R (WinZip)
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Question Number : 31 Question Id : 583224856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands checks disk for file system integrity?

Options:
i ® COMP

> « CHKDSK
s % DOSKEY
4 % FORMAT

Question Number : 31 Question Id : 583224856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=af@a # ¥ Fiadr DOS FATS, Fed [OreH =<7 & v, B & I F@r 22

Options:

, x« COMP
. v CHKDSK
- % DOSKEY
. » FORMAT

Question Number : 32 Question Id : 583224857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) InFAT file system. the file or directory names must start with either a letter or a number.

IT) In FAT file system. all filenames must be created with the ASCII character set.
Options:
, = I-False II - True

> % 1-True II - False
z  1-True II - True

4 % 1-False II - False

Question Number : 32 Question Id : 583224857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 33 Question Id : 583224858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements about MS-Word is false?

Options:
; w Itisaword processing software.

> % Itisthe proprietary software of Microsoft.
5 o It is an open-source software.

4, % It can be used to create large documents.

Question Number : 33 Question Id : 583224858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 583224859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following short-cut keys can be used in MS-Word to move the cursor one word left?
Options:

, % Alt+Right Arrow

> % Alt + Left Arrow

5 % Ctrl+Right Arrow

4 « Ctrl +Left Arrow

Question Number : 34 Question Id : 583224859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FrAfaET # 7 7Y e & (key) F1 STAATH, TH.UE-TF (MS-Word) #, F37 3 UF = 7%
T frae & B g 27

Options:



, = Alt + Right Arrow

> % Alt + Left Arrow
- » Ctrl + Right Arrow

4 « Ctrl + Left Arrow

Question Number : 35 Question Id : 583224860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, the font-size of a text cannot be less than point.

Options:
1.

3
2_%3—1

I

3 ®
4+ 1

Question Number : 35 Question Id : 583224860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH.UH.-I2 (MS-Word) H, IFET F FIc F TS qise W FH A4l & Tl
Options:

12.38

o % 4

3%&2

4 1

Question Number : 36 Question Id : 583224861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following places small letters below the line of texts?
Options:
| « Subscript

> % Superscript
- # Hyphenation

4 = Strikethrough

Question Number : 36 Question Id : 583224861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fro@a 7 & FiTEr F918 WX, T 38T, a9g # @7 (line of texts) & &= g7 &7

Options:

1;{@?



RS Ra ==

2_%33 5
3 R eTe het et
4 % SLEg

Question Number : 37 Question Id : 583224862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The minimum number of rows and columns in a Word table can be and . respectively.

Options:

{ ]

1 ® 1:

o % . |

k-2

= % iz

4_5;-1'.1

Question Number : 37 Question Id : 583224862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T2 F UF T H, gAaH U AR FaH F TEA FAM: Eiry grar gl

Options:

a1y 3

Question Number : 38 Question Id : 583224863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following:

LIST-1 LIST-2
I Ctrl + Z A) Insert hyperlink in a document
I Cirl + K B) Redo
) Ctrl = Y C) Undo
Options:

. % I-AII-C.II-B
. » [-C.II-AII-B
5 % I-B.II-AII-C
, % [-C.II-B.II-A

Question Number : 38 Question Id : 583224863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



AT & Ao F:2

-1 -2

) Ctri+Z A) TEEAES H FO9ITeE ST
) Ctri+K B) 3 (Redo)

1) Ctrl+Y C) 3= (Undo)

Options:

 xl-All-C lI-B

ool -C, II-A Il -B

sxl-B, Il-All-C

L1 -C Il-B Il -A

Question Number : 39 Question Id : 583224864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Excel. the currently selected cell is known as:

Options:
1 % Firstcell

> « Active cell
= % Dominant cell
4 % Hidden cell

Question Number : 39 Question Id : 583224864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UH.UH.-TFHS (MS-Excel) #, Fiser saf@g o 1 F37 FaT 17 7
Options:

1 ® EE%T@E?

=z W gﬁﬁﬁ?:iﬁq

4 # fesat w

Question Number : 40 Question Id : 583224865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an absolute reference of the cell B25?

Options:
1 ® gBESS

5 % &B&2S

s % #B#25



ot B35

Question Number : 40 Question Id : 583224865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
feafof@a & § Hiaar, 9 B25 & 0T T & FEET HIar 82

Options:

; » $B25%
. % &B&25
s » H#HB#25
4 v 5B$25

Question Number : 41 Question Id : 583224866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following allows you to quickly fill a logical series of numbers or labels?
Options:

1 % AutoSum

> « AutoFill

5 » Merge & Center

4 % Wrap Text

Question Number : 41 Question Id : 583224866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PreateT & ¥ F, gt € o e i e 4TE 5O 95§ 3 J20 $ 87

Options:

| » HEEA (AutoSum)

, » A (AutoFill)

3 F= TS HeX (Merge & Center)
4 % 99 2FEE (Wrap Text)

Question Number : 42 Question Id : 583224867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assuming the contents of the cells Al, A2, Bl and B2 a5 20, A, 0, amd 30 respectively, the value of the Excel function
*=COUNTALBIY” will be:

Options:

1 ® 1

I-2

o> R

2. ¢ 3



Question Number : 42 Question Id : 583224867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Al, A2, B1 3T B2 & FHr: 20, A, 0, 3T 30 for@r & vAT A o, & T (Excel) B
“=COUNT(A1:B2)" =T 9oms T Zem?

Options:

1 ® 1

- ® 2

3¢ 3

4 % 4

Question Number : 43 Question Id : 583224868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of the cell containing the Excel expression “=8/2"3—16" is:
Options:

1 o —15

o R 48
=z B —48
4 W 15

Question Number : 43 Question Id : 583224868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Tl 5 HH TaHeT (Excel) HHERIOT “=8/2°3-16" &, 3IHFT FS3d TNUNH FT ErETT?

Options:

1. ¢ <15
> % 48
- % -48
4 % 15

Question Number : 44 Question Id : 583224869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a correct error category in MS-Excel?

Options:
| % HNAME?

> % #VALUE!
- « #ERROR!
4 % HNUM!



Question Number : 44 Question Id : 583224869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=oea # 9 #ar TA.UH.- T (MS-Excel) H, TIT FT HEr 1T 7&r 22

Options:

. % #NAME?
. % H#VALUE!
- v #ERROR!
4 % #NUM!

Question Number : 45 Question Id : 583224870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) Excel formula can start with either equal sign or hash symbol.
II) Excel formula is case-sensitive.

Options:
;% L="True, I+ False

sl A7 False, II - True
= ® I-True. II - True

4 « 1-False II - False

Question Number : 45 Question Id : 583224870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fafese fifer T=ET Fa9 @& § a1 o941
. T (Excel) BIHAT, I aF F&T & [ (equal sign) I1 89N & 9 ¥ & &am 2
Il. TG (Excel) BrEem Fu-Af¥feeg & &l

Options:

Low | -®EL - e

cx |- T, N - T

, |-, Il - e

Question Number : 46 Question Id : 583224871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following:

LIST-1 LIST-2
I) Workbook A) Matrix of rows and columns
IT) Worksheet B~
IIT) Exponent C) Collection of worksheets
Options:

, » I-C.I-AII-B
, w I-A.II-C.II-B
5w [-C.II-B.II-A
, % [-B.II-C.II-A

Question Number : 46 Question Id : 583224871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T=fofaT & Jee F2
-1 -2
) TFaH A) I HR FreEw F AfEFw
) Fepefre B)
1) TeFgT=E C) Terefie T el
Options:

v -C, II-A, 11I-B
. A, II-C, lIl-B
- = I-C, 1B, lIIl-A
. = B, II-C, IIl-A

Question Number : 47 Question Id : 583224872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an Internet-related threat?

Options:
, w» E-learning
- % E-Commerce

5 % Vvideo Conferencing

4  Cyberbullying

Question Number : 47 Question Id : 583224872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e # ¥ 1, TF $=e @ ST T g7

Options:




| % St
2 ST
JW

Question Number : 48 Question Id : 583224873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a Mark-up language?

Options:
1 ® Fortran

2 % Cr+
3 « HTML
4 % Java

Question Number : 48 Question Id : 583224873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
F=afEe 7 O S a3 e 37

Options:

. % ©Ig (Fortran)
u TH++ (C++)

o THELTATA. (HTML)

2.

2
4 % =ar (Java)

Question Number : 49 Question Id : 583224874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The “Bing™ search engine is developed by:
Options:

1 & IBM

> u Google

5 « Microsoft

4 % Facebook

Question Number : 49 Question Id : 583224874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"{&9T (Bing)" T 91 &I, FEs ataa &

Options:



3« H THIHTFE
4 ® ]

Question Number : 50 Question Id : 583224875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Internet. HTTPS stands for:

Options:
, = Hyper Text Translation Protocol Secure
o of Hyper Text Transfer Protocol Secure

- » Hyper Text Translation Protocol Service

4, % Hyper Text Transfer Protocol Service

Question Number : 50 Question Id : 583224875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST & TN H, HTTPS & qUI-9 &7 g7

Options:

|« BB IFEE THEAUSA Wt HFR
, » BB TFEE AT AEhier TR
, « BB TFEE TS FHo HiaH
, x BT TFEC TEGT AR Hiaw

Question Number : 51 Question Id : 583224876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Internet. ISP stands for:

Options:
1 # Internal Service Provider

> « Internet Service Provider
= % Instant Service Provider

4 % Internal Service Provision

Question Number : 51 Question Id : 583224876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gIAC & HEH H, ISP FT qOT-FT FAT 82

Options:



Question Number : 52 Question Id : 583224877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an invalid IP address?

Options:
1 % 125.125.125.10

> % 223.255.60.100
= « 101.256.100.50
4 % 128.200.150.10

Question Number : 52 Question Id : 583224877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fFeafof@a & ¥ Fiaar ey Jed. vy 87
Options:

1 % 125.125.125.10
- % 223.255.60.100
= « 101.256.100.50
4 % 128.200.150.10

READING COMPREHEMNSION

Section Id : 583224110

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224110
Question Shuffling Allowed : Yes

Question Id : 583224878 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (53 to 57)
Juestion Label - Comprehension

Read the following passage and answel the questions given after it.

Coconut oil has lots of health benefits. The oil is used not just in
tropical countries, where coconut plantations are abundant. but also in
the US and the UK. People are discovering the wonders this oil can

create and if is again gaining popularity throughout the world. Let us
see how many of these benefits you are aware of.

Skin care: Coconut oil is excellent massage oil that acts as an effective
moisturizer on all types of skin. including dry skin. Unlike mineral o1l.
there is no chance of having any adverse side effects on the skin from
the application of coconut oil. Therefore. it is a safe solution for
preventing dryness and flaking of skin. It also delays the appearance of
wrinkles and sagging of skin. which normally accompany ageing.

It prevents premature ageing. It also helps in treating various skin
problems including psoriasis. eczema and other skin infections. For
that exact reason. coconut oil forms the base ingredient of various body
care products like soaps. lotions. and creams that are used for skin care.

Hair care: Coconut oil helps in healthy growth of hair and gives your
hair a shiny quality. It is also highly effective in reducing protein
loss. which can lead to various unattractive or unhealthy qualities in
your hair. It is used as hair care oil and is used in manufacturing
various conditioners and dandruff relief creams.

Heart diseases: There is a misconception spread among many people
that coconut oil is not good for heart health. This is because it contains
a large quantity of saturated fats. In reality. it is beneficial for the heart.
It contains about 50% lauric acid. which helps in actively preventing
various heart problems like high cholesterol levels and high blood
pressure.

Weight Loss: Research suggests that coconut o1l helps to
reduce abdominal obesity in women. It is also easy to digest. Further.
it increases the body’s metabolic rate. Hence. people living in tropical
coastal areas, who use coconut oil every day as their primary cooking
oil, are normally not fat, obese or overweight.

Sub questions

Question Number : 53 Question Id : 583224879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The passage talks about:



Options:

, w benefits of growing coconuts

- « Denefits of using coconut oil

= #% uses of coconut shell

4 # uses of coconut leaves

Question Number : 54 Question Id : 583224880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Applying coconut oil on skin helps to

Options:

1 % ftreat arthritis

5 improve the complexion
3 « treat eczema

4 % prevent dehydration

Question Number : 55 Question Id : 583224881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The misconception about coconut oil as
inferred from the passage is that it:
Options:

, « 1snot good for heart.

- % 1s harmful for general health.
5 % causes obesity.

4 % leaves rashes on the skin.

Question Number : 56 Question Id : 583224882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
People in coastal areas are generally not
obese because:

Options:
, w they use olive oil in cooking and walk regularly.

-~ % they use animal fat for cooking.

they use coconut oil that increases the
-  metabolic rate.

4 % they maintain a healthy lifestyle.

Question Number : 57 Question Id : 583224883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Coconut oil is good for hair care as it

Options:
, w Teduces split ends in hair

> % reduces vitamin loss from hair
- % protects hair by forming a thick protective layer

4 « Teduces protein loss & gives sheen to hair

Question Id : 583224878 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 583224879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g T FFE F 9 F g4 22

Options:

| % "&d AT & o

> v AT T T AT F & T
5w SISl & Wl & 39T

4 % SIS & Tcdl &1 3T

Question Number : 54 Question Id : 583224880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
=T 9T AT 39 o o H
e e B

Options:

, % STSAT 1 FeaTsl

o % YA T
o  HHIT F FoA
4 % AT B FT

Question Number : 55 Question Id : 583224881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST IS H, AT o & ¢ F g
aRUT &, &F I

Options:

| v T & T s=or 79 2

, « TAT TE & v gfeers g
o % HIEY FH FROT AT gl

, % 39T W Thcd BIE &7

Question Number : 56 Question Id : 583224882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
8T &9 F &eT 3H dJiv I Al JA94
gla Fifeh:

Options:



?mq¢|ﬁﬁiqﬁ$ﬁﬁﬂﬁmﬁm
. % g 3R TufaT & § 9o 2
d QAT TR 3 T 991 T3 FHT 39T
. Fa g

F AT I F 3TART 3T 2, FA TI9IET
5 v S T TG £

4 % & TF HEEY a4 AT AT T &

Question Number : 57 Question Id : 583224883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT I Tl S @A & [T =0T g
Foifes g gl
Options:

e Eﬁﬁ?mﬁﬁ'wmﬁ'l
, » e § REET & g F oFF F:a g
U AT GIETcAS T T STl 1 JIiad

, « T@ gl
9 T T FH Far § HR gt #=7
. » THF T &
QUANTITATIVE AFTITUDE
Section Id : 583224111
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 583224111
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the value of 55.55 - 5 x 10 = 5.5,
Options:



; % 101
5 % 202
5 o 20D
4 % 110

Question Number : 58 Question Id : 583224884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

5555 +~ 5 x 10 +~ 55 =& A FF FTAT]
Options:

% 101
> % 202
2« 202
4 % 110

Question Number : 59 Question Id : 583224885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A grocer bought 10 ke of rice at Bs. 30vkg and 15 kg of another type of rice at Rs. 23k, He mixed both types of rice
aril solbd it ar Bs. 40/ke. What is the percentage profit of the grocer?

Options:

1 ® 32.5%
5 o 48.14%
= % 51%

4 % 45%

Question Number : 59 Question Id : 583224885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

na:e;amawmm‘rwa 30/fFar Fr 2T 7 our T 3w TREA &7 15 T aew T 25/ &y
2T ® wiear & 77 g1 fheR & wew # BT, 3% T 405 #r ar ® @ & | gEeen o
et AT =T BT

Options:

% 32.5%
» v 48.14%
2 # 51%
. # 45%

Question Number : 60 Question Id : 583224886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A and B can finish a work in 15 devs and 158 days respectively, Both of them work on alternate days starting with A, Tn
how many days will the work get completed?

Options:



1

8- days
3
1

65 days

2
_16- davs
3 ® = SR

1
i 165 days

Question Number : 60 Question Id : 583224886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A B TE & & FF 15 BE #F 18 BE A X FE &1 A & W FF IF i W a0
orEwr v 59 o w B oW v e RS s o g Soem?

Options:

1
wsgﬁ?r
1
wsgﬁ?r
2
wwgﬁﬂ
16~ fot

e,
2z

=3
4 o

Question Number : 61 Question Id : 583224887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A container has mxbure of liguids A and B, The ratio of lguids A to B is 40 5 How much mixhee st be taleen ot of
the contamer and replaced with liquid A so that the final mixtare should contain liqguids A and B ratio 1 ; 17

Options:

1 ®% 0.7 litres
> % 0.8 litres
3 o 0.9 litres
4 % 1.0 litres

Question Number : 61 Question Id : 583224887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v FEAT H A AT B AT gerdf & et 31 FE A A g A H B F1 UA 4 1 5 F) FEAT A
¥ o e # o Reaet, 5% Ot 2 A F e B s ofer, Ol s e &
A gerd A AT B @ AR 10 1 & =

Options:




Question Number : 62 Question Id : 583224888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average age of a man and his son is 30 years. Four years ago, the ratio of their ages was 10 : 3. What is the
difference between the present ages of the man and his son?
Options:

4 3 s
1 ¥ 28 years

5 % 16 years
5 % 26years

4 % 44 years

Question Number : 62 Question Id : 583224888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vE S T IEE 9F #r ftw amg 30 9% &) 4 ¥ uE, IEr M1 T HETe 10 0 3 wm sules
HiT FHE I B TS Hg F AT 7 £

Options:

| v 28 TY
> % 16 9§
- % 26 ¥
4 % 44 T§

Question Number : 63 Question Id : 583224889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The area of a square is 21 times the area of a triangle. If the sides of the triangle are 7 cm. 24 cm and 25 cm, then find
the perimeter of the square

Options:
1 % 126 cm

> % 2lcm
= % 42cm
4 + 168 cm

Question Number : 63 Question Id : 583224889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TE A F HAEA, U WS & HA6S & 21 9§ O TegE & gaw 7 34, 24 3 Ay 26 ma
%, A1 =9 & 9iAET AT i)

Options:

, % 126 WAL



2 » 42 WA
4 v 168 ..
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Question Number : 64 Question Id : 583224890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If 2 is subtracted from each odd digit and 1 is added to each even digit in number 7652248, then find the sum of the
second digt from the rght and third dige from the left n the new sequence.

Options:
1 ® 15

2-3313
2. ¢ B
4 % 6

Question Number : 64 Question Id : 583224890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TfE FEET 7652348 F TS R FF A W 2 =R 11 £ 3N O B NF H 1SS A £ A
AT HEFH H @ HE ¥ gET AN 9 AT # At 5 | e A A

Options:

zv 8

4 % 6

Question Number : 65 Question Id : 583224891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a certain code. RAMAN is coded as 18113114, How 1s ROHIT written in that code?



Options:
1+ 18158920

5 % 18248620
s % 23573560
4 % 34566355

Question Number : 65 Question Id : 583224891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AT w aTeT & RAMAN =7 18113114 g =ar £1 3897 &7 &M #F ROHIT &r &8 e

EII :‘ II 1
Options:

|« 18158920
. » 18248620
- = 23573560
., = 34566355

N

Question Number : 66 Question Id : 583224892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Radha walks 20 m north, Then. she fwms right and walles 30 m. Then, she tuns right and walks 35 m. Then. she tums

left and walks 15 m. Finally, she tuns left and walks 13 m. How far and in which divection is Radha from the starting
position?
Options:
1 % 15 m West
-~ % 30 m East
= #% 30 m West

4 « 45 m East

Question Number : 66 Question Id : 583224892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e 3T fEem Fr T 20 A 7 gl 7w A ) e, 9 2R AW AEe € i 30 . W ogh mw oS
& swE @ =F gt T mE & s 35 & o ofr Aw e §) 9w R @ e oaiw A sl 15 A
Fr g 77 FA &) HT A, I A5 HT g & 15 A & gl m ae &) ofEs Rty @ e
Rt 7 3t fre R & 1

Options:

1 ® 15 ﬁT ‘:!'ﬁ?m'
. 30 #n =
2. ™

o ® Sc‘ﬁw
Lo BT



Question Number : 67 Question Id : 583224893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Divya said, “Manish’s grandfather is the only son of my father-in-law”. How is Divya related to Manish?
Options:

1 « Grandmother

- % Sister
2 % Niece
, # Daughter

Question Number : 67 Question Id : 583224893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

feear & Fgr, ‘AT & T A FHL & SHaild 97 g1 e, 70w & Fw 9or weafaa 87
Options:

1.¢ arer

> % Sgol

3_&5%

4 ® 2

Question Number : 68 Question Id : 583224894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Choose the word which is different from the rest.
Options:

1 % Turtle

> % Snake
= # Crocodile
4 « Fish

Question Number : 68 Question Id : 583224894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
38 ofeg H I A 37 wedl H # e &

Options:
. hOHAT

1 ® S

> % HIT

3 % HINHAS

4 FSOl

Question Number : 69 Question Id : 583224895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Bag is related to Luggage in the same way as Ship is related to

Options:
1 # Coal

5 of Cargo

3z # Stock

4 ® Weight

Question Number : 69 Question Id : 583224895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

fory waT 4% (Bag) ¥ TET (Luggage) TETUT & =@ W 5 (Ship) ¥

Options:

, % Fger (Coal)
o o 9rasX (Cargo)
. = HIEUT (Stock)
4 » ST (Weight)
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Question Number : 70 Question Id : 583224896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

National Institute of Nutrition (NIN) is an institute located in the state of:

Options:

, » Madhya Pradesh

> #% Himachal Pradesh

5  lelangana



4 # Uttar Pradesh

Question Number : 70 Question Id : 583224896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TSI QINUT §EAT (TA.318.0.) ATA+ Rrefor g8, forg =g & &g 87

Options:
| % HET 9&AU

. w AT 9EU
I mgé{?r

Question Number : 71 Question Id : 583224897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World Malaria Day recognized by the WHO gets observed on

Options:

| % January 25
- % December 18
5 w April 28
4 o April 25

Question Number : 71 Question Id : 583224897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Seel. UL, EART AT yed fred AR Ew FT FATT AT &

Options:

| % 25 FAad
Z . 18 fewew
5 % 28 e
4 v 25 389

Question Number : 72 Question Id : 583224898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was declared as the Person of the Year for 2016 by TIME magazine?
Options:
, « Donald Trump

> % Narendra Modi

5 # Mark Zuckerberg



, » Hillary Clinton

Question Number : 72 Question Id : 583224898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2red (TIME) 9f¥err gamr, 2016 &7 98 3% & g7 opd oif¥e f&nar amar ar?

Options:

, v Sles T
. TR SR

. Teonr e

Question Number : 73 Question Id : 583224899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who amongst the following is the winner of Padma Vibhushan Awards given away recently?

Options:
1 # Rahul Gandhi

> « Sharad Pawar
= % Vinod Dua
4 % Ratan Tata

Question Number : 73 Question Id : 583224899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e & @ 9, o & F 937 oy =R & geAfaa fRar o 82

Options:

=z B qa-n-
4 R Idd CIdT

Question Number : 74 Question Id : 583224900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Limba Ram is known for his outstanding performance in which of the following?

Options:
|« Archery

> % Shooting

- ® Swimming



4 » Boxing

Question Number : 74 Question Id : 583224900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFeafeiaa # ¥ &9 &7 #, e 19, 35t veid & ©w J= I 872

Options:

Question Number : 75 Question Id : 583224901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the author of the book ‘A bend in the River’.

Options:
; # Chetan Bhagat

> V- S.Naipaul
- % Kiran Desai
4 % Anita Desai

Question Number : 75 Question Id : 583224901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 583224902 Question Type: TYPING TEST Display Question Number : Yes
Circurnstances results into actions and it's especially true in the econmumerce field. By most standards
eCorumerce is a young industry but as the option goes deeper into its 405 in 2017, the slightest hint of an
unfarmmiliar hue turns the dve a completely different color. The reference is to the Indian marketplace. That
CoUntry's emergence in the ecommerce marketplace has it set to overtake the United States in 1ess than two
decades where digital sales expected to reach $63.7 billion by 2020, This offers American ecormmerce
COMpAanies a big opportunity to start exploring more international waters. Amazorn has already dipped its toe
in by investing another $3 billion on its Indian unit. Facebook Marketplace on other hand described as a
convenient destination to discowver, buy and sell items. So far this new functionality is available only in the
United States, UK, Australia and MNew Zealand but it could roll out globally if interest catches on. Marketplace
is a fairly new feature on the Facebook app where you can actually see who is selling the product. Anything
vou buy has the potential to be connected by eight degrees of social media separation. Buying something from
a friend of a friend adds a certain level of trust. In short, Facebook Marketplace doesn't fee] like such a
gamble. One will also enjoy the added functionality of Messerger. When you want to learn more about arn itern
or haggle over price, Marketplace connects you right to Facebook texting app. Mo need to hop on your ernail
arnd wait for a reply. This doesn't mean the end of ecommerce platforms though. It is difficult to change user
behavior from social media to shopping. Though plenty of people already participate in buy and sell groups
on Facebook but people don't often head to this platform as they hit up eBay for that. If you're an ecormrmerce
startup consider creating a Shopify store and hosting your products on your Facebook page. Unlike other
social media platforms Facebook offers the ability to buy products directly from a fan page. This allows you to
sell products not only on your site, but on other channels, such as Facebook fan pages. Currently Marketplace
is open only to individuals, which may require startups and ecormrmerce entrepreneurs to adjust their
businesses in order to stay cormpetitive. One need to focus on building mix marketing strategy to build a
rmultichannel approach, strengthen yvour fulfillment efforts, look into third party logistics to automate supply
chain and you need to learn that no one can do it all. Let go of certain aspects of your business, such as
ACCounting, custorner services, graphic design or shipping and logistics. When new platforms like marketplace
corme out, you should capitalize on your first mover advantage.
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